g SHBINE

F—0 vIEEHE

F = Bobikk )

B=F Z#H (Taylor) AKX
FUOY HEGERARES LM
FARY RBEOBAL FME
£ HEBAHNRL
FLY HR



= BN H2RE

R 3 I)N (ROl

31 % /R (Roll

1) 75 A1 IX
2) 1E T X

F£—1 PIEEE

==

e) € 3¢

1] (a,b) N 1,

e) EXE UnH AL (0T AL :
Hl[a,b] Fi%4s,

3) AEX [B] i 1 ) R EEAH S, Bl f(a) = F (b)),

W AAE
BRI f 001

UERA:

PN

() 1F [a, bBESE, . f()LE ]
H M A5

w/ME m.

(@b)N & /bFg— ik Sla<g<b) | i1
FiZ R SREETE, B -=o.

X 8] v i




(1) % M=m_ i f(x)=M.
13t () =0.VE e (a,b),#5

f'(&)=0.
(2) IR M zm. - f(a)=f(b), 0
w5 (E /S A] BE [A] B2 i s EUAS
ANGFHEM = f(a), WAEX ] (a,b)N 2/ DAFAE— 5 &
fif f(&=M

CH(E+HA)ST(E), T (E+AX)— T (&) <0,
ﬁH%AX>0,U'\U7ﬁf(§+AAX)_f(§)go;

ﬁﬂ%Ax<O)ﬂlj7ﬁf(§+AAX) 1) .o
X




f/(&)= lim o
o= lim =0

fE+a0- (&) _

1) fifE = F/(£)=0.

fE+M0-1() IHEERNE

it F)=x2—x—2=x-2)(x+1) . & [-1 2% 4,

11 Vo
525’(56(_112))1: (5)—0

O BB RTINS RM P AL, T4
bZN R L

i

Dy=

(2)y =

X, xe[-11]; 1

1-x,xe(0,1]
0 X=0

A

- X

A

{ECL2)1] 3, HAf(-1)=f(2) =0, f'(x) =2x—11X

=0 AbANA]
(EIX ] [0,4] EAR IS




(B)y =x, x e[0,1], 7 X [A] [ 5t 18 bR ZAE AN A

BIANT L 2R e BT, Ue AT IAE X TR N AN AES

fiif (&) =0.
1 ] X =5 +1=043 HAV A /]

ST 1

- SR,

WE: ¥ f(x)=x° —5x+1 Mf () EiEZE, H f0)=1f@Q)=-3

IMEE BLANAFAE %, € (0,0), 11 f (%) =0 BE TFEA /N1
1 IESERRAFAE. IAEAR A % €(0,0), % # Xy, 14 f (%) =0.

o F (X)L Xg, X LB A2 2R BRI a5 A, By BL 2 /DAy

1E— A EHE Xy, % ), f13 £(§)=0. {H
f'(x) =5(x*-1) <0 (x<(0,1))

A JE. BT LT R ME—SEAR.



= BN H2RE

=. 334898 (Lagrange) YA &
&) BAERAR (Lagrange) REREER IR o8 2F (O AL

1)1
2) 1

¥/ ¥

WERA: I3 #fr: 9% ABJTEEN: y

y=f(a)+f(bg_f(a)(x—a). //ﬁ@

F A

T

X [H] [a,b] FIEZE,

- IF

X [H] (a,b) N A 5,
E(a,b) N /D1 E(a<E<b), 1S

f(b)-f(a)="f (£)(b-a).




Mo E ey = f(X) 552 ABUTREZ 72, PR
A P i AL )RR RS 0 AT S5 WO B R

F(x) = f(0-[f(a)+ f(b)‘ f("") (x—a)]

Iy A F ()i A2 27K %EEE/I\/T\# e (a,b) py 52 /b
fifE—xi g, fEfFF'(£)=0.

g -2
ay; f (b)— f(a)_f(g)(b a) ==

) EE: R ITH A SRS HH R T B RE X L
)94 515 R R T X 7] PR 3 A Ak P 5 B TR P O R




W f (X)Yf

JNCIRTE

A,
o

- [a,b] FIEZL,

LE@D)YN ] 5T, X, %, +Ax e (a,b), A

f (X +AX)— f(x)=f(x +0A%)-Ax (0<O<]).

A

Ay = (X, +0Ax)-Ax  (0< 8 <1).
P B H HPE 2 AR TR = A 20 & B H

N AT

(R 2 e B

L WER PR B TH] T WRFEIE A ZE, R4

()7

2T

X TA] 1 b — AN E AL
HEWR2 W BRE 0 « g0 FEXTH] | AL f'(X) =g'(X),
XA | fo=gx+C




#5112 11FHH : arcsin X +arccos X :g (1< x<1).

E: ¥ f(X)=arcsinx+arccosx, Xe[-11]
1 1

v f(x) = + (- )=0. -~ f(x)=C, xe[-11

Y o2 (X) e[-11]

M. f(0)=arcsin0+arccos0 = O+% :% Hlj C :%.

- 7T
CJ.alCSIN X+ alrCCOS X = E :



" BN R 2R L

3 1 HH 2 x>0 I, X <In(1+ x) < x.

1+ X

ik Bz f(x)=In@+x), W] xfE [0, X)Ly a2 dr s B H e B

a
Mt 0-1(0) = F(O(X-0), 0 <5 <X
1O =000 = {1 LR 7 s x)=ﬁ,
1 1
N o0<&<x, nl<1+E<1+x My 1+x<1+z§<1'

X X
<
1+x 1+¢

<X, H[ ﬁ< In(1+ x) < X.



=. % (Cauchy) P4z 3E
& #I7 (Cauchy) FRIETEER 411 4L i 5L F (OMF (x) AL

1) ZEHA1IX 7] [a,b] |14 45,
2) 1ETF X 6] (a,b) N 1] 55
3) F'(X)E (a,b)NERE— mAbI AN E
IBAAE (@, b) N 2 /bF—x S(a<s<b), {15
f(b)—f(a):f"(é). Y
F(b)-F(a) F(S) A 5
JUT A S . B 2 AB ?%4
BB K C(F(©), f (&) 1%
RALIPI 2647 T-59% AB.

T

Wl Wl

>




iE: EHIDIER 000 = 00~ (@)~ o SIF (0 -F(@)]
U (x5 2 2 R B4 1
fi{a,b)N /D AAAE— 5 &, 11T ¢'() =0.

20 )
Ot F FE=0
f(b)-f(@) _ ') -~

F(b)-F(a) F'(&)
CiE: FraHb I HFO) =X, 1l F (b) - F(a) =b—a, F'(x) =1

fb)-f@ &) . fb)-f@) .,
Fb)-F@) F@ 27 pa )

A WL FeT 7 (Cauchy) HPE & B2 37 4% B (Lagrange)
b B, ORI G T S




¢ BN H2RE

fla ViR K e ofe [0 B3, 76(0,0) AT . iF I % /b
fAE—rEe0D), M f (5)_2§[f(1)—f(0)].

WE S ZLEWI e AR B

F@)-1(0) _1'() _
1-0 28 (%) I

R AT g(X) =00 £ (x), (X2 a) [0,4] 13 2 4] g
Al S FRAS 44T, WIAE O, DN Dl — s Ef
f@)-1(0) _1'()

1-0 &

2l (&) =251 @) - T (0)].




